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1) Quadrilateral BCEP has vertices B(-3,1), C(-3,-4), E(1,-1), and P(1,4).
Find the slopes of the diagonals. Show work using slope formula.

Find the midpoints of the diagonals.

From the above information, what type of quadrilateral is BCEP? Explain how you know.
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PROOF. Fill in the blanks. (7 pts)
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Prove: The diagonals of a parallelogram bisect each other. bt
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Given: parallelogram TRCK with TR||CK and RC||ITK
“and diagonals TC and RK intersecting at A.

Show: TC and RK bisect each other.
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What I know Why I know

TR||CK and RC||ITK

Parallelogram Sides Theorem

Ll=/4,/2=/3

ATAK = ACAR

TA=CA, KA=RA

Definition of midpoint

TC and RK bisect each other. Definition of...

Therefore, the diagonals of a parallelogram bisect each other.
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R Given: parallelogram TRCK with TR||CK and RC||TK
~and diagonals TC and RK intersecting at A.
Show: TC and RK bisect each other.
What I know Why I know
TRIICK and RC||ITK &”\dyy\
/r’ [L_ = C/[Zj Parallelogram Sides Theorem
Ll=s4,,2= /3 AV), -Th.
ATAK = ACAR ASA  Pos¥

TA=CA, KA=RA
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Definition of midpoint

TC and RK bisect each other.

Definition of ... b,{ed'

Therefore, the diagonals of a parallelogram bisect each other.




